
[UDP-Gal]/[UDP-Glc] α1 α2 α3 log
10

[Total]

predicted .48 ± .09 0.5 ± 0.1 .0002 ± .0001 −2.94 ± .03
10/90

actual .11 0 0 −3

predicted 1.0 ± .2 0.4 ± 0.3 .0003 ± .0002 −2.94 ± .04
20/80

actual .25 0 0 −3

predicted 3.2 ± .4 .02 ± .04 .003 ± .002 −2.95 ± .03
40/60

actual .66 0 0 −3

predicted 3.3 ± 0.8 .01 ± .03 .0003 ± .0002 −2.89 ± .02
60/40

actual 1.5 0 0 −3

predicted 7 ± 2 .02 ± .03 .003 ± .002 −2.80 ± .03
80/20

actual 4 0 0 −3

predicted 54 ± 25 0.0 ± 0.1 .03 ± .03 −2.78 ± .03
90/10

actual 9 0 0 −3
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